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1. A B C D A B C
D D ?
(A) ] (B)2 ©3 (D) 4 (E)
2. X+y=6 X-y=3 3X+y=3 Xx-2y=-8
( ) ? y

(A)X+y>6,x—y<3,3x+y>3,x-2y>-8

(B)x+y<6,x-y>3,3x+y>3,x-2y>-8

C)x+y<6,x-y<3,3x+y<3,x-2y>-8

(D)Xx+y<6,x-y<3,3x+y=>3,x-2y<-8 O

(BE)x+y<6,x—y<3,3x+y>3,x-2y>-8
3. « )

100 | 90 90 80 70 70 60 60 80 100

(A)-1<r <-0.6 (B)-0.6<r<-0.2 (C)-0.2<r<0.2
(D)0.2<r <0.6 (E)06<r<1
2 5 6
1. 2 1.2
4, A B C  3x3 ?
(A) AB=BA (B)(AB)C=A(BC)
(C) AB=0 A=0 B=0 (D) det(A)z 0 AB=AC  B=C

(E)(A+B)* = A> + 2AB + B?
5. (60 (08) 20 ?
(€ (9,-4)
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(log2=0.301 log3=0.477)

kx+y+z=1
X+ky+z=k
X+y+kz=k?

k=_(3)

A B CD AB=1,BC=2,CD=3, /ABC = /BCD =120°
—\ I
CD 60° AD = (4
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0 X*-b=0 a =2 %:g
b=_(5)
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ABCD AB=16,BC=25,CD =15, /ABC /BCD
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